Q1-1 AT AR i i) R IEAE T T ?

® o0 T

Q1-2

Q1-3

a.
b.

® oo o p

Why is there an increasing need for weld quality?

‘%4 (Safety)

2%+ (Econimics)

WD SF T (Less conservative design)
BRI (Government regulations)
JT45 LL_Ef (Al of the above)

WA AWS FrifEfitiid T CWIIATERE 7 ?
What AWS document describes the rules for the CWI certification program?

AWS 5.5
AWS D1.1
AWS QC-1
AWS 5.1
AWS 14.1

HEH TR (R TR N A AR R TR JE 34T ?

Xt (true)
= (False)

Q1-4 AWS QC-1 L HEME = Fh AR HA I I AR 2

® o0 T

Q1-5

® o0 T

Q1-6

What are the three welding inspector certifications covered in AWS QC-1?

CAWI, CWI, BWI

CWI, CAWI, SCWI

SCWI, CWI, ACWI

Level I, I1 and 111

TG _EIRATAT—F (None of the above)

MEERE, M — DRI, S E R TR A2

What is generally considered to be the most important quality of a welding inspector?

b PR B ERE BRI (Graduation from a welding vocational program)
TF2JH CAn engineering degree)

BhT. (An associate degree)

LALIASE (Professional attitude)

FEAT AT R T % ASAIE (Hold a certified welder certificate)

XA CWI, R SR S AE
The vision requirements for a CWI are near vision acuity on:

1E 24 Ge~F Nl Jaeger J1 (Jaeger J1 at 24 inches)

1E 24 Ge~F Nl Jaeger J12 (Jaeger 12 at 12 inches)

7E 12 Je~F A B 2 IE BRI Jaeger J2 (Jaeger 12 at 12 inches, with or without
corrective lenses)

Ko AN RERC 8RR B (The inspector cannot wear glasses)

20/20 # J; (20/20vision)



Q1-7 B A KASH 0%
The acronym KASH stands for:

a.  HHR, AR, HASAISIH (Knowledge, attitude, skills, and habits)

b. &, M, FREMI (Knowledge, application, skills, and habits)

c.  HMH, AL, HAEAULIL (Knowledge, attitude, skills, and honesty)

d. &K, N, HAEAUEL (Knowledge, application, skills, and honesty)

e.  HNH, A, wWEERUEU (Knowledge, attitude, sincerity, and honesty)
Q1-8  JREEASIG T AT A AR T iR

The welding inspector should have a basic understanding of:
P32 T2 (Welding process)

TS0 J79% (Nondestructive testing methods)

Pl aflb (aandb above)

FUEAIFRE (Codes and standards)

JiT45 LL_E (Al of the above)

® o0 T

Q1-9  JU TR T HEATAG LG 1 3 BOAE Bk S AR 2
The term used to describe a delay in the production schedule to permit inspection is:
ToAnk % (NDE)
{5115 (Hold point)
Kr46 1 (Pre-inspection)
%7% 11 (Reference point)
HLI$E G (Arc strike)

® o0 T

Q1-10 IRk I IEN % KAl :
Inspection report corrections should be made by:
AR (Rewriting the entire report)
) PR HE K AR 5 T 21U IE. (Reporting the correction to the welding foreman)
R T T A4 (Telling the welder what was done)
2% 5 4H% % (Ignoring the original error)
PR 2RI AR, SOERT R, EHMOER H %4 . (Single-line out the error,
correct the error, date, and initial)

® o0 T

Ql-11  IEMEHYEAE Sl (A definition of ethics is:)

a. IsH®IHHWEE (Using common sense and honesty )
“F9% (living by the rules)
PRI E (Being fair and impartial )
DL SN IEE 2 (Basing decision on facts)
45 LA L CAIl of the above)

® o 0o T

Q1-12  HRUNAZRNALTE A LRI,
For communications to be effective, it should form a “continuous loop”.
a. s (True)
b. 7 (False)



Q1-13 BHHRIMNNIZAEE 535k
The welding inspector must often communicate with:
12 1. (Welders)
I"#< (Supervisors)
153% 1 1500 (Welding engineers)
EEA B (Members of management)

BT LL £ (All of the above)

-

Q 1-14 FARIEWE N W MR A R AEH AR IN) 24798 FAL:
NDE personnel (other than CW1’s) should be certified to what document?
QC-1
D1.1
AP1 1104
ASNT SNT-TC-1A
FLHAEFY (Certification is not needed)

o 2o TP

Q1-15 ER A —LZEFEINRIT, BLAFEF B E:
You must have a high school diploma to become a CWI
a £ (True)
b A& (False)

Q1-16 BB RIPHIE IR LB 27K

The CWI exam has several parts; these are:
X, 3CE. M (Fundamentals, practical, code)
i, EZ&, ¥ (Fundamentals, basic, code)
&, MAPR, STE (Basic, vision test, fundamental)
I, MAWR, LB (Code, vision test, practical)
L E#IARE (None of the above)

o o TP

Q 1-17 FHEER M E XEKA D1 MERHAT BT ER.
The CWI exam requires that the D1.1 Code be used for the open book Code test.
a2 & (True)
b. AR (False)

Q 118 #ELRMAF LREZNEL, SR
The CWI exam contains three parts, each two hours long.
a & (True)
b A& (False)



Q 1-19 AWS 45l A3.0 FUbRE 2
The utle of the AWS Standard, A3.0 is:
a. WA GEMT (Filler Metal Specifications)
b AEMEBEEAEHIE X (Standard Welding Terms and Definitions)
c. CWIYALIEE (Guide to CWI Certification)
d. L E#SAR (None of the above)

Q 1-20 AP1 1104 $RHERLET T PS5 & H A A9l -
AP! Standard 1104 covers the fabrication of cross-country bridges.
a. 7 (True)
b A& (False)

Q121 #AHAT CWITESRBIMMRATAT: D1, APIII04, AWSDLS H AWSDIS.L.
Some of the approved codes/standards for the open book portion of the CWI exam are AWS DL.1,
AP1 1104, AWS D1.5 and AWS D15.1
a & (True)

b. ~E (False)

Q122 EFREH~T T, —MEERRHNRE:
Prior to starting a job assignment, the welding inspector should determine:
a. FTERMME, WA EX (Whatcode, standard or specification)
b. NGRS (What inspections should be conducted),
¢. fHARHE# (When inspections should be conducted)
d. BRNRTEWE (Where records are maintained)
e FHLLE (Al of the above)



Q2-1 BRERRIMSFHBETIB— k.
The welding inspector is exposed to which of the following safety hazards:
a. 8% (Radiation)
b. E T (Falling objects)
87 (Electrical shock)
d. HRAY{54% (Eve hazards)
e AT UL (All of the above)

g]

Q22 M XIRHEAIFIZE &M SAETE T P —A BT
A document which covers safety in welding and cutting is:
AWS D1.1
APl 1104
ANSI/ASC ZA49.1
ASME Section Vi1
e. ASME B31.3

nooR

a.

Q23 M HRMELEMREEFPBREERHIR: _
The most important component of an effective safety and health program is:
AWM (Safety rules)
ZL2HFE (Safety procedures)
R HE (Protective equipment)
BEm S (Welding helmet)
T Y (Management support)

o 8o op

Q24 ETHIBMRAERIEIRT, WESHINMHBERBZBRFER:
Safety training is mandated under provisions of:
AWS “FALH” (AWS “Safe Practices”)
OSHA
ASME #71 (ASME Code)
1REFMEE M (Welding Handbook, Volume 2)
FLl_E{E—4~ (None of the above) '

o 8 0 o

Q25 G5 “MSDS” B4 EB: (The abbreviation *“MSDS’ means:)
a. BEBIYHMBHEEL (Management Support and Daily Safety)
PR SRE RN EEM IR (Material Strength and Dlscontmu;ty Sheet)
M & 2¥I/BAK (Material Safety Data Sheet)
5 K EH#EK (Material Strength and Data Sheet)
L E#H AR (None of the above)

o g0



-6 453 “TLV” A9 T (The abbreviation “TLV” means:)
a BEME (Total Linear Volume)
b Im5tRIE (Threshold Limit Value)
¢ PBEMIAEEAL (Tack Length Value)
d IGESHRIRTE (Threshold Limiting Valve)
e LB E{T—1 (None ofthe above)

i~

Q

Q2-7 B AL FH & RAE AR MSDS £
Employers must make all applicable MSDS data available to their employees.
a = (True)

b A& (False)

Q 2-8 AU A AT ER U LLE B RN Sz 2 B &
Personnel must be trained to recognize safety hazards
a. & (True)

b. A& (False)

Q2-9 THMENTFEKE MM LTHATIE (A ‘Hot Work Permit’ is required for:)
a. FTHR#84F (Al welding operations)
b. FiftIEIEIE (Al cutting operation)
c. FTATRAMEME (All preheating operation)
d

a welding, cutting, or preheating operation)
e. UL E#R (ANl of the above)

Q2-10 HEEEFFTFHREREFNHRLE:

(Eye hazards found in welding operations include)

a. LEEPR (Flying particles)
b. %% (Radiation)
c. 18% (Smoke and fumes)
d LLE#E (All of the above)
Q2-11 FEARI R LA RERHENRIFRERE:

{Protective equipment not suitable for eye protection from welding radiation includes)
WHEERNEEEE (Welding helmets with filter plates)

W AR ELP RS (Clear safety goggles)

WHEXRNZLF B (Safety goggles with filter plates)

BidRBE (Protective screens)

e IEMNAHGPEHE (Properly positioned barricades)

o o o ™



Q2-12 EEMHEERITBEREE:

Suitable clothing materials for welding and cutting are
63%1%, 35%RAE (65% cotton, 35% polyester)

E (Wool)

R FRE (Chemically treated cotton)

d  J3ERY b&e (b and ¢ above)

e. LLEEIAR (None of the above)

o om

o

Q2-13 E—&LIHUEHA £/ W& LI ARG, RiZseli—4 “Fal, SRRk " MR
Before working on equipment where machinery guards have been removed, a ‘Lock, Tag, and Try
procedure should be completed. '

a. =& (True)
b. AR (False)

Q2-14 HEEHHN, HTEEEY, BRELHHEE:
In avoiding fumes during welding, the most important factor is
a. HHAIIL (The type of base metal)
b. HEHELEHIEE (The type of filler metal)
c. BRELZHE (The type of welding process)
d. BHUIALE (The position of the welding machine),
e. BT LM E (The position of the welder’s head)

Q2-15 EFHMBIRFEPEEBAFASEER
(It is not important to consider ventilation during welding and cutting operations.)
a. & (True)
b AR (False)

Q2-16 HA—NMEEHLEZAHATE “FE&” AR
- (When entering confined spaces, a ‘standby’ is not required.)
a. & (True)
b. A (False)

Q2-17 W LRI HRHBE: (Some of the toxic materials the welder may be exposed to are)
. 4 (Cadmium)

. % (Chromium)

. 4 (Nickel)

. # (Lead)

ELE#BR (All of the above)

0o 0o o

o



Q2-18 R4 LA I R AT R AL B &,

-

Proper usage and handling of compressed gas cylinders include
ATERIH SIS (Not welding on cylinders)
ALEALMBA TR A RE P (not including the cylinders in the ground or electrical
¢ircuit)
IR T (FE (Securing them properly)
AR M%7 (47747300 (Identifying the gas prior to use)
LL_E#8R (All of the above)

Q2-19 FAT A IHE EZ B EAFRE: (Acetylene becomes unstable above what pressure?)

&0 o w

Spsi

10psi

15psi '

L E#AR (None of the above)

Q220 EAR—HM IS 1E (Oxygen is a flammable gas)

a.
b.

& (True)
T& (False)

Q221 K& 6 & U LAIBIFMINN £

> a0 o p

(Electric currents above app'roximatelyé milliamperés are considered)
TfEER (Not harmful)

TEHH (Primary currents)

HEH (Harmful)

REBF (Secondary currents)

LL LAY b Fi ¢ (b and ¢ above) -

Q2-22 MMM, EEBIINZETBM:

0B o o R

When operating gas cylinders, the primary valve should be opened

ZIRMER LT (all the way on an acetylene cylinder)

EA5MEITH— (One turn on an oxygen cylinder)

ZIR¥EF— B A 3] (One turn or less on an acetylene cylinder)
FURMMBI G 14TT (All the way on an oxygen cylinder to backseat the valve)
cAld (canddabove)



Q3-1

a.
b.
C.
d.

.

Q32

o

0. 0

Q3-3

— i SMAW &R A TR ZRIIBERT 4.

Which of the following is a function of the flux coating of a SMAW electrode?
MHES (Insulatm g)

&4 (Alloying)

IR (Deoxidation)

BE#% (Shielding)

VI E#2 (Allofthe above)

FEXITT AWS R4 SMAW MR THORR, BIECE M FEREKT 4:
In the AWS system of SMAW electrode designations, the next to the last digit refers to
M ( Impact strength)
1242 (Electrode coating)
BHALE (Welding position)
W (Strength)
Ll L #AZE (None of the above)

TFIMLRT SMAW 24 E7024 MSUR R IEHIH?

Which of the following is an incorrect statement about a SMAW electrode designated as E7024

a.
b.

Q34

a.
b.
c.
d.

€.

ER—HEERAY (Itis a low hydrogen type)

BB HERNB AN IH R R 70,000psi. (The weld deposit has a minimum tensile strength
of 70,000psi.) :

UERTFHEEAKFRAELE (It is svitable for use in the flat and horizontal fillet positions
only.) _

BATBAEHENESR (it is an electrode for welding carbon steel)

LI E#EARE (None of the above)

THB— I REE SMAW REPABESH? _
Of the following which is not an essential part of a typical SMAW system
fEHEYE (Constant current poweér supply)
EHHL (Wire feeder) »
HHEHIESR (Covered electrode)
BE& 55 (Electrode lead)
TH24L (work lead)

Q3-5 THIMREREE R &1 T H M5 5 BRI RB E R

a.
b.

[e}

Which of the following welding problems is the result of a distorted magnetlc field that deflects the
welding arc?

24 (Cracks)

158 (short circuiting)

BRI (Arc blow)

BERFAL (Insufficient welding current)

U E#R (All of the above)



Q3-6 T HEAEHLANE - GMAW S48 BT i 5 -0
Which of the following is not considered a type of metal transfer for GMAW?
a.  Ig¥& (Short circuiting)
h. uiil (Spray)
. i (Globular)
d MR (Droplet)
e. M#ik (Pulsed arc)

Q3-7 7 GMAW 41, T AR5 BLAT G Rt I sUR S IR B B U4, RIS iR IE2 R ?
Which of the following types of metal transfer in GMAW provides the Jowest amount of heat to the
workpiece, and therefore is prone to incomplete fusion?

a g% (Short circuiting)
b. ¥ (Spray)

c. & (Globular)

d MR (Droplet)

e. HBEKAFIL (Pulsed arc)

Q3-8 THBF AT LATTF GMAW R4 ?
Which of the following gases can be used as shielding gases for GMAW?

a. ZF4LBK (Carbon dioxide)
b. $@-% (Argon-oxygen)
¢. F-THALEE (Argon-carbon dioxide)

d. @* (Argon)
e. LLEZR (All of the above)

Q3-9 TERRMEWEIZREE 122 (What type of welding process is pictured below?)
a. SMAW

b. GMAW
c. FCAW
4 SAW
e. ESW
EET N L3
B4 F a8
1B BLHER OEZp il

HRGHE

7] 1AL B BH
@e’k BELR

B&hwm

10



c. 2% imf#3 (2% thoriated tungsten)
d. #i{t™ (Zirconiated wngsten)
e. FobL AT~ (None of the above)

Q3-16 "N GTAW | 2Esktnt. WA REe 2 nE 5 Emn?
When welding aluminum with the GTAW process, what type of welding current is most commonly

used?
a. DECP
b. DECN
c. AC
d. a Flb
e. b c

Q 3-17 SAW R ESW 7= F7 mmAREl?  (SAW and ESW processes are similar in that)

a. “HHEBIT 17E (Both are an arc welding process)

b. ZHEEAED {H(Both use shielding gases)

c.  HSTIEH L TR £570)(Both use a granular flux, which becomes molten)
d. a#lb

e afitc

Q3-18 FTEMA T H4ALIE 1TE? (The diagram below depicts what welding process)

a SMAW .

b ESW r BREE

¢ FCAW b BROE. AUDE,
4 SAW ] BRI

e GMAW

Bt ARy
BEWiReEy

W & TR

Q319 MFFREMMAERKUAERNBEAABRST B —HEE T Z5IRH™ERE?
Solidification cracking due to improper width-to-depth ratio of the weld bead is a serious problem primarily
with which welding process?

a. SMAW

b. OFC

¢  SAW

d. LLE#SE (All of the above)

Q3-15 EBEL FNFRLLIENE: (Agreen stripe on a tungsten efectrode designates:)
a 2% (Pure Tungsten)
b. 1% ¥H4# (1% thoriated tungsten)

11



€.

T L EAT—4> (None of the above)

Q3-20 MEARMETIR AR, &MU T 70BN RE 1 ZWE DR+ FENE?

o oo o

Which one of the following processes is typically used in the flat position unless special apparatus
is employed?

GMAW

SAW

FCAW

SMAW

GTAW

Q321 TRMEHEHART GTAW fl PAW T ZMItE &2

e a0 o p

Which of the following are not common to both GTAW and PAW
R LRI (Nonconsumable tungsten electrode)

JE4EW Y (Constricting orifice)

AR WY (Shielding gas nozzle) _

MIHBIAZE 4 IR (Externally applied filler metal)

P E#AR (None of the above)

Q3-22 7EAEF PAW BTGB ARA T LB RIS BB, TLBRIES?

o oo o P

What technique is employed with PAW to produce full penetration welds without edge preparation?
H1RE (Stringer beads)
ZE5hFE  (Weave beads)
MHLEAR  (Keyhole)
S BRIEHE (Backstep)
A& R (None of the above)

Q3-23 THHABELE TR LRIFRERR.

o a0 o

What welding process produces welds in a single pass, with the progression uphill along the joint?
SAW ‘ '
ESW .

FCAW
afiip
b#ec

Q324 THIH—AEHAL R ESW LZMRE

® o e o p

Which of the following is not an advantage of the ESW process?
HHERE (High deposition rate)

% 5% (Ease of setup) |

BEapiE B L RIER 4T (Capable of joining thick sections)
FhaTHM#M (No tendency for angular distortion)

Pl AR E (None of the above)

12



Q3-25 WF—MIEE LW LI N BRI E?

Which welding process is considered to be a chemical welding process?

a. SMAW
. ESW

c. SAW

d. OAW

e. Ll E#RE (None of the above)

Q3-26 THB—MIGFHEE U Z W LB DI E T A B I S BB TR ERITT 12
Which of the following welding process provides a very efficient means of joining attachments to
some planar surfaces?

a. OAW

b. SW

c. GMAW
d. GTAW
e. SMAW

Q327 FHEARRETEENE: (Brazing differs from welding in that)
a. AFHEK4LR (No filler metal is used)

{EM& S e K6 (An oxyfuel flame is used) -

MR B ATHE4E. (The base metal is not melted)

PAL_E#RE (All of the above)

LLEHSRRE (None of the above)

o oo o

Q328 ATEF-—MHENER, HANEINR:
For satisfactory results, a braze joint should have
a. TrFEHEXRN (Clean joint surfaces)
b. ZANER47 (@/NEB (A small clearance between pieces to be joined)
c. HEHIHE KKER (Alarge surface area for the joint area)
d. #JF (Heat source) '
e. LBIEZEE (Al of the above)

Q3-29 THIF—RABHMA (Which of the following is an advantage of brazing?)
a EREERHEES (Ease of joining thick sections) '
b, EEBEBAMLIAISRE (Ability to join dissimilar metals)
. BB &4} (Ability to join thin sections)
d. afb
e. bRlc

Q3-30 THAM—MEBEAREERTERINE
Of the following metals, which cannot be efficiently cut using OFC?
a. B4 (High-carbon steel)
b. EKEEM  (Low-carbon steel)

13



c.  FWN  (Medium-carbon steel)
i BREHTEEN (Austenitic stainless steel)
e, B E#EIARE (None of the above)

Q3-31 AN L LUT S TR ?
Which of the following gases can be used to perform OFC?
a. NBHR-A K (Methylacetylene-propadiene MPS)
b. %% (Propane)
c. LB (Acetylene)
d. i (Methane)
e LIE#E (Al of the above)

Q 3-32 FRIBMIIEZ W UIEER SR
Which of the following cutting processes can cut any metal?
a KT (OFC) '
b CAC-C
¢ PAC
d afib
e bfllc

Q3-33 YIBIMBEMG: (The width of a cut is referred to as the)
a. % (Gap) '
b ##E (Dross)
¢ 10 (Kerf)
d # (Drag)
e U E#HTE (None ofthe above)

Q 3-34 SMAW [ EET LLR: (The SMAW power source can be:)

a. DCEN

b AC

¢ DCEP

d ULE#RE (Allofabove)
e aflb {(aandb)

Q3-35 THR—RRIFRMEELZE, FREBEEHFAZERBNTR?
Of the following, which is a noncontact welding process, requires no efectrodes, and is not influenced by the
presence of magnetic fields?

a. ESW

b. PAW

¢ LBW

d a®lb

e. BLEEARR (None ofabove)

14



Q33

o oo o

6 T AU — R Ry iR AT R TR BN i SR a0 g

Which of the following uses a focused beam of electrons as a heat source for fusion welding?
EBW

ESW

EGW

afllb

M & E  (None of above)

Q3-10 FHIMPLEAR R I 1722 (Which of the following is not considered an arc welding process?)

a.
b.

a n

Q3-11

o oo T

Q3-12

a.
- b
c.
d

Q 3-13

L

Q3-14

SMAW

GMAW

FCAW

ESW

LI FHEITRE (None of the above)

X FCAW B4 @ RY P, BEHE (ENTS) %2 A 8F (1) K5

In the electrode designation system for FCAW, the second digit (1) in an electrode marked (E717T-5)
refers to:

AL (Strenpth)

153{7F (Welding position)

42774y (Chemical composition)

WA (Usability)

LI E#A R (None of the above)

FHSET SR FCAW RYEM— P BATE?

Which of the following is not always an essential element of an FCAW system?
{GEfits (Constant voltage power supply)

ERIEL (Tubular electrode)

‘L (Wire feeder)

HSMBRY S 4E (External shielding gas)

T34 (Work lead)

GTAW fil PAW LZHBFN HEHE/ECNTRTHEMINELE?

What aspect of the GTAW and PAW processes makes them different from the other arc welding
processes?

AR (Nonconsumable electrode )

$Rft R (Power supply)

{*#* (Shielding)

BLE# R (All of the above)

PLE#RARZ (None of the above)

#1F GTAW F PAW T Z BRI = R R 66 T SRR T

Shielding for the GTAW and PAW processes is primarily accomplished through the use of

o P

o A o

R (Granular flux)

Y5¥8 (Slag)

TS (Inert gas)

H4 (Oxygen)

Bl E#AR (None of the above)

15



Q319 HWFAREMMAERRUFEANBATREGTR—HERE T ESIRH™EGE?
Solidification cracking due to improper width-to-depth ratio of the weld bead is a serious problem primarily
with which welding process?

a. SMAW
b. OFC
c. SAW
d. LAI#6E (All of the above)

16



17



